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	LB92  Comment Resolution

	CID
	Commenter:
	Clause:
	Addressed By:
	Original Date Prepared

	438
	Parameswaran
	10.3.9.1.4
	Noens
	01/16/07


1. COMMENT:  [From Spreadsheet]
"If the MIB attributes are not being set to their default values, WAVE mode MAC operation shall resume in less than 2 TUs after changing the value of the locally administered MAC address.". Why is there a 2 TU requirement. What is the time specification, when MIB attributes are not set to their default value?
2. Commenter’s Suggested Remedy (If appropriate):  [From Spreadsheet]
Clarify why there is a  2TU time requirement. State what happens if the MIB attributes are not set to default values.
3. Background, Explanation, Discussion, etc.:

The reason for a 2 TUs requirement was to facilitate channel switching and guarantee that operation will not be interrupted.  It may be advisable to include an explanation for this requirement within the informative section in the introduction to in the next draft.
4. Recommended Resolution of the Comment:

Accept with modification.  Include explanation in for this requirement in the introduction portion of the next draft.
5. Motion (if technical and/or significant):

(And instructions to the editor.)
Move to accept CID 438 with modification by including an explanation for the “2 TUs requirement” within the introducation section of the next draft of 11p.
Motion by: Rick Noens__________Date: _01/17/07________
Second:  ______________________

	Approve:
	Disapprove:
	Abstain:
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